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Topic:- Child Development & Pedagogy (CDP)

1) The distribution of intelligence is not among all human beings./ Lkl qﬂ'&ﬁ * 'Gﬁif, ﬁ T faaror qﬁ gl
1. Moderate / H&H
2. Equal / JHI

3. Appropriate / 3Udd
4. Same / T ST

Correct Answer :-

« Equal / §HIH

2) The primary focus of a formative Assessment for learning should be: / 3R & ﬁI'Q' U RIS 3fipad &1 Tufie Oy E'-rﬂ ?IT'%'Q':
1. checking the classroom presence of the child / T B DET ¥ Iuffa o1 SICERGI

2. checking memorizing skills / THUT Qfdd IR B ST AT

3. help in improving writing skills / WA HA B ﬁ?ﬂ?ef T Agg &l

4, understanding the gaps in learning / A H 3ieRTd Bl REERI

Correct Answer :-

« understanding the gaps in learning / ST H 3R &l HHAAT

3) Mohan is a 13-year-old 9t class student with a mental age of 16. What

type of child is he based on his IQ scores? / HgT 13 TUTT 4 Herm T BT 8, ForIH WHARIF 3Mg 16 ¥1 78 3T IS TR F MUR
R 5 YR &1 9= 32

1. Imbecile /TI@CUTIIE

2. Genius /ﬂﬁf“—ﬂﬂﬁ

3. Above average / @W%W
4, Superior / af\fg

Correct Answer :-

« Superior / aﬁ’g

4) What is the Freudian stage of psychosexual development in which children are toilet trained known as? / AR oo 3 wrafesaa

AT P FT HeT oiraT ¢ ForaH I=1 ) 2 & e uiifera fear sman 82
1. Latency / SITIaITaRIT (Ao )

2. Phallic / feRT TeTawRT (Shca®)

3. Oral / JETARIT (3R

4. Anal/ TGTGRIT (T

Correct Answer :-

« Anal / T[QIIRT (T

5) What is Progressive Education? / yfasia ﬁl&ﬂ' T %?

1. It has standardized testing /Sﬂﬁ W@_ﬂ qﬂ&l’m Eﬁ?ﬂ %I



2. It is Learning by doing/ﬁﬁaﬂﬁ@ SfeRTH (© Tt EI1'5‘§3TD gargl
3. It is data-driven learning / Wﬁ SeT-3TRd e ?R‘ﬁ %l
4, It has standards-based curriculum / s@ W TR 31y QE UTadhH Eﬂ?ﬂ %|

Correct Answer :-

« Itis Learning by doing/s_ﬂﬁwgq W(ﬂﬁ"'[aﬁw giargl

6) is called maturation. / &1 giuedr Dol SIdl %I
1. Family intervention / qIRaNG E??R?fq

2. A change due to cultural influences / Hi’{q)i?leb THTGT & HRO] Th Qﬁaﬁ:{

3. Natural biological development /W Sy faer

4. Change due to environmental pressures / EI'CI'hTUﬁ'q m % HRUT trli’ﬁ?h

Correct Answer :-

« Natural biological development /m Sfaw s

7) study is applied to study in which some of the individuals have been measured on at least two successive occasions /

ST B AR HRA & forg sreqa= faman wrar 8, o @ oo afwmdl o $9 | S8 &) TR SHGER] IR 3197 9141 81
1. Extended Longitudinal Method /ﬁ?ﬂﬁ'ﬂ Hﬁ?ﬁ q@

2. Longitudinal growth/ 3G af&

3. Cross Longitudinal Method/ 14 SIHIT fahTd

4. Mixed longitudinal/ T3 arge e

Correct Answer :-

« Mixed longitudinal/ T3 /e e

8) The main objective of ADIP scheme is to provide to persons with locomotor disability. /@Gﬂgfﬁ YIS BT qs1 G?RH, AP
fersaivren arat safdaa ot W™ HAT & |

1. Disability certificate / feeiTrar wHmoT=
2. Employment / RSN

3. Education / fRI&fT

4. Aids and Appliances / ggIdd 3R IuHRO

Correct Answer :-

« Aids and Appliances / HglI® 3R IuHRO

9) The three major themes in Vygotsky’s Social Development Theory are: / wﬁ?\qaﬁ F grfore e Rrga a9 g9 ICLEI %’
1. Cognitive Apprenticeship, Social Interaction and Reciprocal Determinism. / SRITFTHD EI'&TE@L?IT, 1SS T HIRTT 3R TRER® fuRuare

2. Cognitive Apprenticeship, Legitimate Peripheral Participation, The Zone of Proximal Development. / STHIE® UﬁT@?ﬂ R 3y uRef Hrfier R
o fyera &1 &8

3. Reciprocal Determinism, Reward and Punishment, Classical Conditioning. / TRWURE ﬁﬂw, EnT\’:ﬂ?:T 3R 4s, YRAT SRCEE] (aaﬁw

4. Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / qraTior g HIRTE, THIIR s &1 83, HY
3ferep 1 HU
Correct Answer :-

« Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / BIEISER R R AR faH™ &1 ?33[, 3
3{feIeh T o=

10) Ability grouping is a kind of segregation of the to provide greater opportunities of interaction and stimulation. / faR fau=f ik

FASHT F FETR IAWR UG B P {1 & T4E, T TP YHR BT JUFHI g |



1. Disadvantaged / gfra
2. Normal / JTHTI

3. Backward / U%Ia?‘ﬁ

4. Gifted / UTcHTaT

Correct Answer :-

« Gifted / UfcHTaT

11) Language development in children follows the Principle of / T § T BT faer EX) frgia & 3faifa _Eﬁ?‘“ %:
1. Integration / TPHIHRT

2. Uniform pattern / Yehe aE:f

3. Continuity / A

4. Individual differences / GITGTC TS

Correct Answer :-

« Uniform pattern / Y] Tt

12) Direct method is also known as : / Ucd&f fafr =t EGESE] A WY ST ST %:
1. Direct approach / Y&l GRCI

2. Inductional approach / IRUTAS T RHIT

3. Natural method / UTpTaes fafd

4. Indirect approach / 3UHE Bicau|

Correct Answer :-

« Natural method / ‘;I'@'ﬁﬁ fafa

13) In collaborative learning, it is better that the students go through ./ Teanit 3R ¥, 98 dgaR % P _ & T o Sma |
1. Self-assessment / ¥dd: 3Hher

2. Formative assessment / TITH® 3fdbal

3. Peer assessment / e} sipa

4. Summative assessment / TR 3ffha

Correct Answer :-

o Peer assessment / e} stipa

14) Rating scales are used to measure / _____ 1 AU & forg s FHrafzor a1 fEn @a) 1 3ugiv fearwmar 21
1. Intelligence / §f

2. Attitudes / 3fE W-Ifiﬁf

3. Achievement / ST

4. Skills / DIRTA

Correct Answer :-

o Attitudes / m

15) Which of the following disorders is caused by an extra twenty-first chromosome? frafafaa # e faer T® SffaiaT sﬁﬁﬂ%
TUREA & SR FIAT 82

1. Phenylketonuria / Th-dIab IC 1A

2. Down syndrome / ST3 ﬁl@q
3. Turner’s syndrome / TR Wﬁi@q



4. Sickle cell anemia / TRt HIRTDT SRkl (Ridvel It T

Correct Answer :-

« Down syndrome / 813 ﬁl@q

16) Which of the following will occur if the stimuli of the first task is greater in similarity in the second task?/ frefafea s S = _EaTl'l' 'Qﬁ tlgﬁ

Pl B ST, gER BT A T F $iftre 72

1. No transfer will occur / ﬁ's‘ ot QIR '_‘lﬁm |

2. Extent of transfer will be minimum / RITATIRUT T faxdR JAdH EﬁT]TI
3. Extent of transfer will be less / SITTARUT T AR HH aTlT |

4. Extent of transfer will be greater / IR B faER 3w @Tl'”

Correct Answer :-
« Extent of transfer will be greater / YR &1 faaR 3iferes 6 Tl
17) Which of the following statements best defines motivation? / ﬁ'ﬂ'ﬁr@a -k aﬁﬂ-w HY- UM BT 33T GRE gy s3ar %?

1. Internal state of an individual that arouses, directs, and maintains behaviour./ o<t safeq & siiafke fRUfT s dgR P IAford BT %, ?‘lé d Bl
8 3R 1T Xt &

2. State of one’s emotional strength to respond to difficult situation. / e uRfRufa &1 Sare aﬁ & ﬁ"l'q Uh HITATHD fed &1 fRufd|
3. One’s ability to demonstrate discipline. / 3[R Ui B BT e
4. One’s ability to do a task quickly and neatly. Rexikavkal STeat 3R I ARVh W B P &

Correct Answer :-

« Internal state of an individual that arouses, directs, and maintains behaviour./ oot safaa &1 siiafve fRufa s AdgR BT I7ford Bt %, qé A BT
2 3R ST T B

18) Which of the following is not characteristic of a relational learning style? AECinieok kR ank: | TP AGUTHD ST Qe B FA=iwan 16T 82
1. Sequential thinking / W@a

2. Perception of information as part of a whole /ﬂ.'q:uf AR AT P YR

3. Intuitive learning / TSl T o AT

4. Improvisation / ST TT ATBTICTD UGRIA

Correct Answer :-

 Sequential thinking / GTW g

19) Which of the following teaches parents a range of techniques for controlling and managing their children's symptoms, especially with children

diagnosed with conduct disorder? /mﬁﬁaﬁqmw HIdT- mﬁmﬁ%a&mﬁmﬁamaﬁ?m %m
& ot & e 9= Iy 0§ 3rRv fapR (Feaes f39aiis) A fifsaga &

1. Parent training programmes / ﬁi‘c’ aﬁﬂ tﬁtlTﬁEl

2. Functional Family therapy / Wfa:liﬁ qﬂar{ W
3. Systematic family therapy / yoefiiTe Thfireft AR
4. Play therapy / w ARt

Correct Answer :-

« Parent training programmes / Ne a 7 TR

20) What among these are not personality traits?/ 3=I'ﬁ T 1 AfRId A& :lﬁ%"
1. Thinking-feeling/ TaTR- HTGT

2. Judging-perceiving / STHI-THSA

3. Sensation-intuition./ GaGT- 3fd: TR



4. height-color / HE-JT

Correct Answer :-

« height-color / HG-JT

21) What is a rule that always leads to a solution if used correctly called? / 39 ffoa st s Dol SITdl % il _Er'ﬁ'QTT Th HHTYTA 7Tl % !T% IBT
TE & A I fomar W

1. Heuristic / ¥dd: MYy (E}Iﬂ'@fﬁ)
2. Algorithm / TSI

3. Information processing / AT TRIXh 0]

4, Stereotype / QKW (R‘]ﬁ@a‘{m
Correct Answer :-

 Algorithm / U®¥ ¥

22) What type of attention is displayed when a child focuses all his attention on the task at hand, ignoring other information? / ST aﬁ’{ =T 3T

TRT T 371 B R Hid a1 8, 30T 30 Fa13i BT 33T F3aT 8, o oy YR &1 sraer welkfa grar g2
1. Selective attention / TITIHD HIUTT

2. Simultaneous attention / GHBTICID AU

3. Divided attention / faHdRT /@

4. General attention / HIHII HIYUTT

Correct Answer :-

o Selective attention / AYATHD HIYTT

23) There is an addition of information to the existing information in learning./ Sftrm # ﬁﬁjgl EIECarik:d ﬁl"'{ U
Jfafved eI 31

1. Sporadic /W
2. Spiral / i

3. Linear / W

4. Disjunctive / faarft

Correct Answer :-

 Spiral / it

24) Who among the following did not propose a trait theory of personality? /

frrafafea & 3 fram safara o1 v el Rigia @ @) ywafaq 78 fFar
1. Hans Eysenk /€9 39

2. Raymond Cattell / YHS Hed

3. Albert Bandura / /T8¢ UG

4. Gordon Allport /TS 3faUIE

Correct Answer :-

o Albert Bandura / W E\I{U@

25) An individual achieves the masculine or feminine social role during ./ T wfe F IR TREY T FQ0T
[qTHIfRIS YfrenT UTed HRaT 8l

1. Childhood / SdU (dTgcSES)
2. Adolescence / framRTa=T

3. Late Childhood / U9 999 (TIC A8TSES)



4. Infancy / B G

Correct Answer :-

. Adolescence / frnRmawy

26) Meta components, performance components and knowledge acquisition components are categories of:/ TeT Ueh, YR ed 3R I Wity T
= & A fraat At §:

1. Tripartite Theory/ Frueha Rigia

2. Triarchic Theory/ [ECalie] ﬁh_&r]a

3. Allport’s Theory/ AU BT fRgid

4, Eysenck’s Theory/ &ﬂﬁiﬁ P Rrgia

Correct Answer :-

e Triarchic Theory/ﬁaﬁ'uﬁ'q ?‘3.5

27) CANCELLED

Which of the following is not a use of an intelligence test? /mﬁﬁmﬁﬁ%ﬁ&mmmﬁm%’
1. Selection of students for scholarships / W%mmﬁw

2. Evaluation of teacher’s performance/@TW%U@ﬁaﬂW

3. Grading of a student / wwrﬁ"rﬁ%ﬂ

4, Predicting a student’s success /WW@WWWW

Correct Answer :-

« Grading of a student /wwﬁaﬁm

28) Skinner advocated that learning was more likely to occur when/ '%FR' J apTad F1 fF '\‘ﬁ@ﬁ 3| HUTIAT a9 3t a?h' % oid
1. Explaining public events or observable behavior/ YraSIes geT3l a1 Sfaaid-tg AER B! RS BT

2. Observation of a behavior is followed by modelling/ Tch STdgIR I KERIEE] uﬁlﬂ‘-‘ﬁ gRI ERIKSIGI %I

3. Behavior becomes a reflex response to stimulus/ 4dgIR RESCIGT 1%]'({ U ufaare ufafesar s Srar %I

4. Behavior is reinforced with a reward or punishment/ SIdgIR ®l T S g1 gl & 1Y Ugferd faar Sirar %I

Correct Answer :-

 Behavior is reinforced with a reward or punishment/ IdgIR ®l T g g1 gl & 1Y Ugferd farar Sirar %I

29) Which one of the following methods is used to study the behavior of an individual in its totality? / frafafea # A fog fafy &1 Iua
foreft safe & UaeR &1 IS THIAT # 3reqy B4 & fore forar wirar 82

1. Observation Method / 3/dcid fafdr
2. Experimental Method/ FaRTI&e fafey
3. Survey Method/ Trderor fafey

4. Case study Method/ &9 ¥} fafd

Correct Answer :-

. Case study Method/ &9 8! fafer

30) which of the following is a projective technique to assess the personality? / frrafafaa # @ o @ U&TQ'UT PP Afid BT THAT
FHF TR ?

1. Rorschach Ink blot / =MD e BT YT (ﬂﬂ'l_q% 3'55@1\’3)
2. Interview / HI&Th R



3. Questionnaire /aTad

4. Observation / TI&fOT

Correct Answer :-

« Rorschach Ink blot / IR T BT YsaT (TP FHAIC)

Topic:- General English(L1GE)

1) Rewrite the following changing the active sentence to passive.

The sun has ripened the fruit.
1. The fruit is ripened by sun.

2. The fruit is ripened by the sun.
3. The fruit was ripened by the sun.

4. The sun ripens the fruit.

Correct Answer :-

e The fruit is ripened by the sun.

2) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the family to Wilmington, North Carolina.
Michael excelled at sports from an early age. Although he was cut from the Laney High School varsity basketball team his sophomore year in high
school, he grew four inches over the summer and averaged 25 points per game as a junior. During his senior year, he became the only player in
high school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game). In 1982, he was named a
McDonald’s High School All-American and received a scholarship to play basketball at the University of North Carolina. Michael quickly became a
star. During his freshman year, he hit the game-winning shot against Georgetown University that resulted in a national championship. After his
junior year, Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was legendary. During his first
season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on the basketball court continued to astound fans, coaches, and
fellow players. From making spectacularly unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon
became the most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-winning shots and playing
tenacious defense.

When and where was Michael Jordan born?
1. 17t February 1963, Brooklyn

2. 17™ February 1968, Wilmington

3. 17" March 1936, North Carolina

4, 17t January 1963, Brooklyn

Correct Answer :-

. 17t February 1963, Brooklyn

3) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the family to Wilmington, North Carolina.
Michael excelled at sports from an early age. Although he was cut from the Laney High School varsity basketball team his sophomore year in high
school, he grew four inches over the summer and averaged 25 points per game as a junior. During his senior year, he became the only player in
high school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game). In 1982, he was named a
McDonald’s High School All-American and received a scholarship to play basketball at the University of North Carolina. Michael quickly became a
star. During his freshman year, he hit the game-winning shot against Georgetown University that resulted in a national championship. After his
junior year, Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was legendary. During his first
season with the Bulls, he scored 40 points or more seven times. Jordan'’s exploits on the basketball court continued to astound fans, coaches, and
fellow players. From making spectacularly unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon
became the most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-winning shots and playing
tenacious defense.

How did Jordan continue to amaze his fans, team members and coach?
1. He kept growing taller and taller every year.

2. He made spectacular shots and won slam-dunks

3. He used to snatch the ball from his opponents.

4. He was too quick on his feet for his opponents to catch him.

Correct Answer :-



« He made spectacular shots and won slam-dunks

4) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the family to Wilmington, North Carolina.
Michael excelled at sports from an early age. Although he was cut from the Laney High School varsity basketball team his sophomore year in high
school, he grew four inches over the summer and averaged 25 points per game as a junior. During his senior year, he became the only player in
high school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game). In 1982, he was named a
McDonald’s High School All-American and received a scholarship to play basketball at the University of North Carolina. Michael quickly became a
star. During his freshman year, he hit the game-winning shot against Georgetown University that resulted in a national championship. After his
junior year, Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was legendary. During his first
season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on the basketball court continued to astound fans, coaches, and
fellow players. From making spectacularly unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon
became the most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-winning shots and playing
tenacious defense.

Why was Jordan named the McDonald’s High School All American?
1. He grew 4 inches in one summer season.

2. He moved to the University of Carolina.

3. He became an American citizen.

4. He was the only player to average a triple-double.

Correct Answer :-

« He was the only player to average a triple-double.

5) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the family to Wilmington, North Carolina.
Michael excelled at sports from an early age. Although he was cut from the Laney High School varsity basketball team his sophomore year in high
school, he grew four inches over the summer and averaged 25 points per game as a junior. During his senior year, he became the only player in
high school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game). In 1982, he was named a
McDonald’s High School All-American and received a scholarship to play basketball at the University of North Carolina. Michael quickly became a
star. During his freshman year, he hit the game-winning shot against Georgetown University that resulted in a national championship. After his
junior year, Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was legendary. During his first
season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on the basketball court continued to astound fans, coaches, and
fellow players. From making spectacularly unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon
became the most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-winning shots and playing
tenacious defense.

Give a synonym to tenacious.
1. Astonishing

2. Dumbfounded

3. Resolute

4. Flabbergasted

Correct Answer :-

* Resolute

6) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other significant rivers, it is not used for
shipping because ocean going ships cannot navigate the waters. What makes the Rio Grande so important is its location. Since 1846, it has been
the official border of Texas and Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and extends
downward to the Gulf of Mexico. Downward is the best way of describing it too. Not only does the river extend south, but it also starts in the
mountains and gets lower and lower in elevation as it extends to the Gulf. Its name is Spanish for the “Big River,” but the Rio Grande is actually
known as Rio Bravo in Mexico. “Bravo” translates as “furious,” so the name makes sense. Because of its twists and turns, it certainly does seem to
be angrier than most rivers! The Rio Grande today is mostly used as a source of drinking water. Sadly, much of the water has been drained from
the river and parts of it are almost dry! This is because people use more water from the river than the river can get back from rain and other
sources. Experts are working to correct this, though, with hopes of restoring the river to its past strength. Today, the river is important as a source
of water for Texans and Mexicans. More important, it is a symbol of cooperation between two nations. The Rio Grande is therefore a symbol of
friendship and peace between two peoples.

Why is the Rio Grande important?

1. It has many twists and turns that change course.

2. It is a very long river.

3. It is looked at as the official border of Texas and Mexico.

4. It is used by ships to navigate from place to place.



Correct Answer :-

o Itis looked at as the official border of Texas and Mexico.

7) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other significant rivers, it is not used for
shipping because ocean going ships cannot navigate the waters. What makes the Rio Grande so important is its location. Since 1846, it has been
the official border of Texas and Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and extends
downward to the Gulf of Mexico. Its name is Spanish for the “Big River,” but the Rio Grande is actually known as Rio Bravo in Mexico. “Bravo”
translates as “furious,” so the name makes sense. Because of its twists and turns, it certainly does seem to be angrier than most rivers! The Rio
Grande today is mostly used as a source of drinking water. Sadly, much of the water has been drained from the river and parts of it are almost dry!
This is because people use more water from the river than the river can get back from rain and other sources. Experts are working to correct this,
though, with hopes of restoring the river to its past strength. Today, the river is important as a source of water for Texans and Mexicans. More
important, it is a symbol of cooperation between two nations. The Rio Grande is therefore a symbol of friendship and peace between two peoples.

How is the Rio Grande considered among the Texans and Mexicans?
1. The people are using more water than required.

2. They are continuously fighting for its water.

3. Both the different people want to make dams across the river.

4. It is a symbol of friendship and peace.

Correct Answer :-

o Itis a symbol of friendship and peace.

8) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other significant rivers, it is not used for
shipping because ocean going ships cannot navigate the waters. What makes the Rio Grande so important is its location. Since 1846, it has been
the official border of Texas and Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and extends
downward to the Gulf of Mexico. Its name is Spanish for the "Big River,” but the Rio Grande is actually known as Rio Bravo in Mexico. “"Bravo”
translates as “furious,” so the name makes sense. Because of its twists and turns, it certainly does seem to be angrier than most rivers! The Rio
Grande today is mostly used as a source of drinking water. Sadly, much of the water has been drained from the river and parts of it are almost dry!
This is because people use more water from the river than the river can get back from rain and other sources. Experts are working to correct this,
though, with hopes of restoring the river to its past strength. Today, the river is important as a source of water for Texans and Mexicans. More
important, it is a symbol of cooperation between two nations. The Rio Grande is therefore a symbol of friendship and peace between two peoples.

What is the river used for these days?
1. It changes its course frequently.

2. It is a good source of drinking water.
3. It is used for movement of large ships.

4. People move along the river on boats.

Correct Answer :-

« Itisa good source of drinking water.

9) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other significant rivers, it is not used for
shipping because ocean going ships cannot navigate the waters. What makes the Rio Grande so important is its location. Since 1846, it has been
the official border of Texas and Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and extends
downward to the Gulf of Mexico. Its name is Spanish for the “Big River,” but the Rio Grande is actually known as Rio Bravo in Mexico. “"Bravo”
translates as “furious,” so the name makes sense. Because of its twists and turns, it certainly does seem to be angrier than most rivers! The Rio
Grande today is mostly used as a source of drinking water. Sadly, much of the water has been drained from the river and parts of it are almost dry!
This is because people use more water from the river than the river can get back from rain and other sources. Experts are working to correct this,
though, with hopes of restoring the river to its past strength. Today, the river is important as a source of water for Texans and Mexicans. More
important, it is a symbol of cooperation between two nations. The Rio Grande is therefore a symbol of friendship and peace between two peoples.

Why is the river given the name of ‘Bravo’?

1. Bravo means furious in Spanish.

2. It looks angrier than other rivers because of its twists and turns.
3. Even though it has become almost dry it is still flowing.

4. It is given the name because it has many twists.



Correct Answer :-
« It looks angrier than other rivers because of its twists and turns.

10) Read the sentence carefully and choose the option that has an error in it:

Do not laugh on the poor.
1. the poor.

2. Do not

3. laugh

4.0n

Correct Answer :-

11) Fill in the blank with the correct option in the given sentence:

An angel of the first rank is an —angel.
1. intro --
2. intra -
3. arch --

4. ex --

Correct Answer :-

e arch--

12) Fill in the blank with the correct option in the given sentence:
At my slight -- movement, the snake would strike me!

1. --ing

2. -y

3. —-est

4. --er

Correct Answer :-

e -—-est

13) Fill in the blank with correct determiner in the given sentence:

Reciting a table of two is so easy that ____ child can do that.
1. few

2. any

3. no

4. all

Correct Answer :-

14) Report the following statement.

“Did you come from India?" said Sara to the boy.

1. Sara said to the boy did he come from India.



2. Sara asked the boy if he comes from India.
3. Sara asked the boy if he had come from India.

4. Sara asked the boy if he have come from India.

Correct Answer :-

« Sara asked the boy if he had come from India.

15) Choose the appropriate tense to fill in the blank in the given sentence:

1 in my diary every day since August.
1. will be writing

2. have been writing

3. has been writing

4. had been writing

Correct Answer :-

« have been writing

16) Choose the right tag:

Harry got badly injured in an accident. Before that the friends used to play football very often, _ ?
1. hadn’t they

2. weren't they

3. didn’t they

4. did they

Correct Answer :-
o didn’t they

17) Choose the right tag:

We are dining out today, ?
1. are we

2. aren't we

3.don't we

4. do we

Correct Answer :-
e aren't we

18) Choose the appropriate prepositions for the given sentence:

The manufacture ___ computers is very essential ______ our economy.
1.in ... for

2. of ... to

3.on...into

4. for ... in

Correct Answer :-

e of ...to



19) Choose the appropriate antonym for the highlighted word in the given sentence.

She is such an aggressive player that she always tries hard to win.
1. ambitious

2. selfless

3. laidback

4. foolhardy

Correct Answer :-

« laidback

20) Choose the appropriate conjunctions for the given sentence.

Hedrove __ fast___ hecan.
1. neither ... nor

2.as...as

3. both ... and

4. either ... or

Correct Answer :-

21) Choose the appropriate option that rewrites the given sentence in its passive voice.

We have bought a new car.

1. A new car is been bought by us.

2. A new car have been brought.

3. A new car has been bought by us.
4. New car has been bought by us.
Correct Answer :-

« A new car has been bought by us.

22) Choose the appropriate tense to fill in the blank in the given sentence:

He knew that she as her eyes were red.
1. had been crying

2. has been crying

3. is crying

4. was crying

Correct Answer :-

e had been crying

23) Choose the appropriate synonym for the highlighted word in the given sentence.

Survey reveals that learning a second language fuels children’s intelligence.
1. provokes

2. adds fuel

3. reflects

4. strengthens



Correct Answer :-

« strengthens

24) Choose appropriate articles for the given sentence:

Middle East has more oil in ground than in United States.

1. The ... the ... the
2. The ...a ... the
3. No article required ... the ...the

4. No article required ... no article required ... the

Correct Answer :-
e The ... the ... the

25) Choose appropriate article for the given sentence:

India is a big country which is proud of its diverse cultures.
1. The
2. No article
3. An

4. A

Correct Answer :-
« No article

26) Choose an appropriate modal for the given sentence:

My father not afford to buy books so he borrowed them from the public library.
1. would

2. could

3. should

4. must

Correct Answer :-

e could

27) Choose the most suitable pronoun for the given sentence:

I love carnations. flowers are from my hometown.
1. Those

2. They

3. This

4. These

Correct Answer :-

e Those

28) Choose the option that substitutes the given phrase appropriately.

A large building that usually houses aircrafts



1. Driveway
2. Hangar
3. Tarmac

4. Parking bay

Correct Answer :-

29) Choose the option that best explains the highlighted expression:

He is popular amongst all the villagers. He is the salt of the earth.
1. an emotional person

2. a good and honest person

3. an angry person

4. a humble person

Correct Answer :-
« agood and honest person

30) Which of the following options best combines the given sentences?

The child is very young. He can't lift weights.

1. The child is very young, so only he can't lift weights.
2. The child is so young that he can't able to lift weights.
3. The child is too young to lift weights.

4. Being a very young child, he can’t be able to lift weights.

Correct Answer :-

« The child is too young to lift weights.
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EAY ShIST-HTAIIINAY AAIGRT: HIAThI FFOTIGeNT] 3T | STUeGT:
cfadraees HIRAT T JARIEATA_ Teleid| ARG AT g Fred
IEIcar 3G Ul | fear AT ugzﬁﬁaﬁ fJemen: FATTATARIE:
IRANTS: | UIARAIGIET AL -HaNlTedfATar: ATA A cIehehrdsha:
FAIMANETE: HSIH IHTTecIehlall T HANSTAH Tl 3]
hIsHCIAgIGAA Aeeriees TduT fdenfaer vegare: Hd: | RS
g g9 ufaaifdie: agy Ta-Faced 3Tead |

g 3T TN [Joffaa: Udladedr-

Topic:- Science (SCI)

1) The relative density of a substance is 13.6 and its volume is 20 cm3. What is its mass? /
et uared &1 HTUE 9 13.6 T SR THST A 20 T § 1 THST FoqHMA a1 82
1.272g / UH

2.2.72g / UH

3.27.2g / UH

4.0.06g / T

Correct Answer :-



The current—voltage graph for two conductors ‘P’ and ‘Q’" are shown below. Select the correct
statement from the following options. /

& gareres P AR Q' F AT Rega dees am@ e Rm av § Aeetetaa
oot & WEr Fua #T =TT H

Current Q

Voltage
1. For the same value of voltage, the current through the conductor Q is more than the current through the conductor P. /

Jees & THH A & o, faggd S garas o @ g oRdl 8, gardd p ¥ ToRA arell faggd ¥ ¢ifie gt g |

2. The resistance of the conductor P is equal to the resistance of the conductor Q. /

AT p BT UfRIY Garad Q & UfoR1Y & FHH 51

3. The resistance of the conductor P is greater than the resistance of the conductor Q. /
AT p BT UfRIY Faras® Qb HfeRiy e 3

4. The resistance of the conductor P is less than the resistance of the conductor Q. /
AT P BT UfRIY Jarad Q & Ufekly § FH 31

Correct Answer :-

« The resistance of the conductor P is less than the resistance of the conductor Q. /

A P H1 ARl g Q & YRRy § HH )

3) What are the food requirements of dairy animals? /
ST U3 B WIRI STaIHATE T §?
1. Cattle need balanced rations containing all nutrients in proportionate amount. /
Tafm o1 I A § qaft dives It aTd Tferd = Bt snaxgehdT gl 8|
2. Cattle require appropriate amount of food to sustain life needs. /
TR &t Sfta &t STawaaarsll & g1 R & o HieH &) Iuged A1 &1 HTagedl gil g
3. Cattle are fed with plenty of green grass as well as dried fodder. /
TR B Sif¥e gR O & A1y g g1 IrT o Raamn Srar g1

4. Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high level of proteins and other nutrients. /

rléﬁrzﬁgﬂ-ha?ﬁfna%rm,@Wwﬁﬁmaamw-aﬂsﬂﬁmﬁmm@m%aﬁmﬁﬁﬁw$uﬁqw 3 Y
dagd gl

Correct Answer :-

« Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high level of proteins and other nutrients. /

ﬁggmmﬁmairrﬂ,@Wwﬁwaawu@mﬁﬁﬁwwmm%éﬁﬂsﬂﬁﬁw$uﬁqﬁ 3 U
dd |

4) The cracks inside a metal block can be detected with the help of:/

YT AP P SATARP IR D1 TeTaaT A fHHST UdT AT S Jhel 8-
1. Visible light / €T UhTRT

2. Infrasonic sound / 3ayeT

3. Audible sound / 4 g

4, Ultra sound / U gf

Correct Answer :-



o Ultra sound / IRYA™ =

5) At the top of the mountain the atmospheric pressure is: /

TgTs & MY W, Frararviiy gare e s glan @:

1. Less than the pressure at the sea level / WWWW@W

2. Equal to the pressure at the sea level / Waama‘ma%w

3. Equal to zero / quaﬁ_w

4. Greater than the pressure at the sea level / JH% ¢ U qdld T 31ftr
Correct Answer :-

« Less than the pressure at the sea level / Waﬂwmﬁm

6) Haemophilia and colour blindness are diseases. /
gHIftferaT SR quiferar AW

1. acquired / IuTeta

2. communicable / HehTH®

3. genetic disorders / Wﬁw

4, non communicable / SHHTHD

Correct Answer :-

« genetic disorders / aﬂaﬁmﬁw

7) Polar bear survives in the very cold weather conditions because of: /
syt uTey areafires e e o) FRufy & off Sfifdra e &, 591
1. Thick layer of fat under skin / AT & AiTd a1 B HIK! IRd & BRI

2. Abundant fish /Uﬂ?ﬂ@?ﬁ

3. Oversize / fa=TTAs™

4. Ice covered land /aﬁ?ﬁm\_’pﬂ:{

Correct Answer :-

« Thick layer of fat under skin /@ & I a1 Ht HI TR & HROT

8) Convert: 15m/s into km/h /
15m/s B km/h T TUTGRT P |
1. 5akm/h / 54 fpaeR/der

2. 27km/h / 27 b aHeR/der

3. 18km/h / 18 fdhaiie/der

4. 36km/h / 36 fhamcR/deT

Correct Answer :-

. 54km/h / 54 fPaHe/ger

9) Which of the following is not advisable for controlling the noise pollution? /
fFrafafaa & @ 7 @i ugwor o1 fFrifia s & oo sfua =gt g
1. The TV and the music systems should be run at low volume. /

At 3R Tifid o7 (Rew) &1 & 3i1aTe | T Tl

2. The least number of trees should be planted around the buildings./



YT & IR 3R FH Y HH US Y o 1Tl
3. Automobile horns should be minimized at the residential area./
SR &7 H SffCIHISTISd 814 B! HH I HH fHa1 1 AT
4, Industrial units should be set up away from the residential area./

SN 3Tl BT ST &= | g R o S =

Correct Answer :-

« The least number of trees should be planted around the buildings./

Yol & IRI 3R HH Y HH US T 94 =T

10) For a normal eye, the far point and near pointare____and ______ respectively./
TH A AT & g, ru e g sk Pee e figwam ek 21
1. infinite , 25 cm / 3{9d, 25 It

2. infinite , zero / 3f9d, A

3. 45cm 25 cm / 45 T, 25 JHT

4.25cm, 10 cm /25 1, 10 9

Correct Answer :-

« infinite, 25cm/ C’rF-iT‘T, 25 T

11) Alice gets 100 out of 100 in her Math test to get the first rank always. This is an example of

motivation / TRRT B UYH VI UTWd HI4 & g, T0Td uham & ga=m 100 A & 100 3 e 21 98
TR T TP ISTERI B

1. Extrinsic / STl

2. power-based / fed-suma
3. fear-based / HI-SMTTRA

4. Competitive / gfaantt

Correct Answer :-

« Extrinsic / dT&l

12) A wire when connected to 220V main supply has power dissipation ‘P;’. Now the wire is cut into two equal pieces and combined in

parallel and then it is connected to the same supply. The power dissipation in this case is ‘P,’. Find P : P,./

TS dR B 919 220V T- Yl A SAIST 1A § 79 STH fIgy 3Usqd P’ TiaT 81 34 dR P &l SRIGR gHSI | HIel SIral g 3R
AR T A SSH 58 TAM Tgfe A sirsT ofran 81 59 fRAf & figgq sraeg «p, §1 @1 P, - P, FA BV

1. 2:1
2.3:1
3.1:2

4. 1:4

Correct Answer :-

13) To save maximum energy it is advisable to use: /

Sftrpan St Fam ¥ g feaeT IuahT w31 3fa Fara wrar &:
1. CFL lamps in our house /m‘ﬂ?ﬁ m L]
2. Filament lamps in our house / BAR W H frame am GG ?ﬁ:q)



3. Fluorescent lamps in our house / AR W # yfadid dg
4. LED lamps in our house / E'J:IT:\r wH Qﬁé@)[ g

Correct Answer :-

« LED lamps in our house / gﬂﬁ wH Q?lé@:pf ﬁﬂ

14) A solution contains 15 mL of alcohol and 85 mL of water. Calculate the volume by volume percentage of solution. /
T faera #, 85 mL U 3R 15 mL Sepied gt 8 | faeras & aman wfasra & 61 3 oA B

1. 22.4%

2. 15%

3.17.6%

4. 85%

Correct Answer :-

o 15%

15) Identify the correct electronic configuration of calcium /
FiRT & T gaTe e A= 3 vgar w31
1.2,8,8,2

2.28,5

3.2,8,8,1

4.2,8,7

Correct Answer :-

16) The number of oxygen atoms present in 1 mole of Nay,COj3. 10H,O /
Na,CO3. 10H,0 & TS ITHIN] | SHTRIToI URATISH 3t T=T HiNg &:
1. 13.02 X 1028 oxygen atoms/ 13.02 X 1023 mﬁm

2 6.022 X 102 oxygen atoms/6.022 X 1023 S{WW

3 7.83 X 10 oxygen atoms/ 7.83 X 1024 aifgfierT TRAT

4, 463 x 10P oxygen atoms/ 4.63 X 1022 \’AWGHERTIT'H

Correct Answer :-

, 783x 10% oxygen atmns/ 7.83 X 1024 Sﬁwm

17) The process used to separate bacteria from water is /

Ut § SFRET BT ST B B ufeaT §
1. Decantation / FRUT

2. Crystallisation / foreediiar

3. Evaporation / AT

4. Filtration / fAede

Correct Answer :-

« Filtration / fAede

18) The pressure acting on a given area is 125N/mZ.If the force applied is 2500N then the area on which the force applied is : /



fopeft fow 71T & W S1dvd e 125N/m? | Tfe AT T4 S 2500N § 4 85 P R Ia M ar} g @
1.200m2 / 200712

2.2m? /2 |2

3.20m? /20 H2

4. 20cm? / 20 Y2

Correct Answer :-

. 20m?2/20 H2

19) About 5g of a yellow coloured non-metallic solid (X) is taken and heated. It produces an irritating smelling gas (Y). The gas (Y) is
collected in a Gas jar and is shaken well with a little water when colourless Sulphurous acid (Z) is formed. What is the solid (X) and the gas

x?/

T [ F 31 U1 (X) BT AT 5 I fRran wirar g 3R T far simar 81 g g8 e arell v 39 (v) I0d Ha1 81 A9 (Y) B T
ﬁ'ﬁg‘ﬂﬁm%mw%aﬁvWMWWW%WWWW(Z)WWW% 3 (X) T T (v)
HATR?

1. X

Sy &Y =S03
2.X = P4&Y =P,0;5

3.X

Sg& Y = S0y

4.X = S4&Y =505

Correct Answer :-

e X = Sg&Y =S50,

20) Out of the following given materials, which one will you prefer to make the handle of an electric kettle? /
FrafafEa €t 15 wmfat 7 4, amu frad T safaes Sach &1 gsd a1 T B

1. Tungsten / STRC

2. Bakelite / dbalTse

3. Copper / PR

4. Aluminium / Tegff-aH

Correct Answer :-

. Bakelite / SIS

21) A weak acid among the following is: /

e ® @ ue gda e 8:

1. Acetic acid / Qﬁlﬁ@_ ST

2. Hydrochloric acid / Eﬁ@a?ﬁﬁ_oﬁ ST
3. Nitric acid / T8¢ 3

4. Sulphuric acid / GeHRIR® 3T

Correct Answer :-

« Acetic acid / T fesw o

22) Type of the soil is decided by the /

ST BT YR 9 gR1 a1 far sirar 8

1. Amount of humus in it / I RCII CAREIENN

2. Average size of the soil particles /HET%WW T MHR

3. Porosity of the soil. / FaT BT IRTDBTRI



4. Amount of microorganisms in it / S&H ﬁ&ﬂﬁﬁ@f B A

Correct Answer :-

« Average size of the soil particles /W%Wﬁw T PR

23) Element ‘P’ has atomic number 19. The incorrect statement among the following is: /
T P’ B ATV @A 19 7| FafifEa & & Taa sy &:

1. The valency of the element is 1 / dd Bt TS | %I

2. Element ‘P’ is a non-metal. / dcd ‘P° Udh \Hﬁlﬂ%l

3. Element ‘P’ belongs to group I/ dcd 'P' YHg 1 & 3fcHia 3ﬂ?ﬂ%|

4. Element ‘P’ belongs to 4™ period / @ ‘P’ EREIEE R U] W%I

Correct Answer :-

« Element ‘P’ is a non-metal. / dcd ‘P’ Uh G{?aﬂﬁ?»'l

24) What is the percentage of Carbon and Lead in Lead pencil, which we use for writing, drawing etc.? /
dis I RO g0 A, 157 sIfe & 1T SugivT avd § S0 S iR 2 3t wfasraen feah 32
1. 50% Carbon & 50% Lead. / 50% WQG 50% 3t

2. 100% Carbon & 0% Lead. / 100% Wﬁa 0% it

3. 0% Carbon & 100% Lead / 0% W@ 100% =

4.75% Carbon & 25% Lead. / 75% Te Td 25% M|

Correct Answer :-

« 100% Carbon & 0% Lead. / 100% WI_G[:TQH 0% RIIRTI

25) Which one of the following factors affects the quality of honey produced? /

Frafafaa ¥ 2 fra sRe | Wee 31 JorEwr gyt gid 82

1. Number of worker bees which collect the nectar / T8 &1 HhIG ShgI HRA a1 Aol Wﬂﬂm P I
2. None of the above / B'qﬁ?ﬁ f[ a Ebll—st qﬁ

3. Queen bee and Drones / I 'F[EFIH@ IR TR QW

4. Flowers available to the bees for nectar / Q'ﬂ'qm & qPG %ﬁ SUA Y& U

Correct Answer :-

« Flowers available to the bees for nectar / Wgﬁm EaRCRTA %ﬁ SUdH T IR

26) Which physical quantity has the unit N/kg? /

frg Wifare T 3 591 N/kg 22

1. Velocity/aT[

2. Acceleration / R0

3. Speed / dTcd

4. Force /9

Correct Answer :-

» Acceleration / @RU

27) Two of the components of ecosystem mentioned below are abiotic. Identify them.

Inorganic nutrients, herbivores, decomposers, climatic factors, forests /

H sfcafaa mifRufas 93 & 3t ues seitdia €1 3% vgnfae



31T NITS T, AMPRRT, HTICHN], TAarad HRP, T

1. Inorganic nutrients and forests / 3oIg TS ded 3R a

2. Decomposers and climatic factors / ATYCHRT 3R TAAId PRD

3. Decomposers and inorganic nutrients / 3TECHRT 3R 3/ TN dcd

4. Climatic factors and inorganic nutrients / SITaTad! HR& 3R 3{SId UGN ded

Correct Answer :-

« Climatic factors and inorganic nutrients / Sefarad! PRSP 3R 3id TN dcd

28) One among the substances given below can easily exist in all the 3 states of matter by varying its temperature. Identify that substance. /
2 g 1T uerf § @ ve vard & qroar # afe he-aqe frar sime, @ i st # e @ fawr v wear 31 39 uerd
ga B

1. Table salt. / HH THEH

2. Diamond. / @R

3. Helium gas. /é)fﬁﬂ'qﬁﬂ

4. Water. / ST¢T

Correct Answer :-

« Water. / ST

29) is used for making the pencil lead. /

IfREdsTR s e w13y fear sl
1. Graphite / ‘jtb—fg'c'

2. Diamond / 81RT

3. Silica / FyfeTepT

4. Calcium / feRrad

Correct Answer :-

« Graphite / ﬁtﬁﬁ?

30) To move an uncharged body from its state of rest , we have to apply : /

et srFTafra avg @t Swas fava Y R | fFrevrem & forg, g9 @ ghm:
1. A balanced external force / T ﬂ@%—d Tl dcl

2. An unbalanced electrostatic force / T 3&gferd RR aﬂa qdq

3. An unbalanced external force / T& 3rqfeid a1l 9
4. A balanced frictional force / T Tgferd avur a@

Correct Answer :-

« An unbalanced external force / Tdh G{H’gﬁﬁ CIRKEN]

31) During the extraction of Iron from Haematite, which substance acts as Flux in the Blast furnace, which removes the acidic Silica contaminating the
Ore particles? /

RuTeTse A dig & Fredur & R, I A1 yard sRe B9 # 3ra¥ HUil 51 giid $3 aTa 3reity RiftieT @) gem ard we & &0 #§ 1l Sear 82
1. P,05

2.C.

3. CaCl,

4. CaO

Correct Answer :-



32) National Science Day is celebrated on in India. / HRd o ?T@'q ﬁil'Fl' feaw &1 HETIT SATdT %I
1. February 28 /28 ThRaR1

2Mayl/1¥7%

3.June 5/ 59

4.March 7 /7 9rd

Correct Answer :-

. February 28 /28 TRa3}

33) Evaluation is a . /WW %I

1. process unrelated to instructional objectives / W 3%'5{5?[ & ﬁm ST ufehar
2. continuous process / ddd ufsbar

3. Non-quantitative process / IR-AETHS U

4. Non-qualitative process / ﬁ?-w ufear

Correct Answer :-

. continuous process / Hdd gfdsar

34) The educational programs of NCERT are telecasted on: / Q‘I’\‘ﬁgaﬂ?ﬂ & ﬁ&rﬁm PTIHHI BI TR UTRd
far Smar 31

1. Gyan Darshan channel / - 3“«7&[ EEK

2. Doordarshan National channel / Wﬁ BREREEE ]
3. Doordarshan Bharti / Wﬁ Rl

4. eGyankosh / 3-JHIY

Correct Answer :-

« Gyan Darshan channel / JTH EESEI]

35) Which of the following statements is not true for a constructivist teacher? / ﬁ?ﬁ'@'ﬂ - | ﬁ ﬁq Gl H Y-, Th

IATaTd) e & fore |el Agi 82
1. His/her students work mainly in groups / 3% B H8I =4 B ﬂﬂ@ T Bl HRd % I
2. His/her role is rooted in negotiation. / G| @W Hiayg A ﬁ'%ﬁ %I

3. He/she assesses the students through testing by checking for correct responses. / 9% H’Eﬁ ufaferaren & f%m CIEEZGH qﬁ&‘rUT
P HIEOH T BT BT 3fibed HRd o

4. He/she values the interest of students. / d& IE P %ﬁ A Hed é{?f %I

Correct Answer :-

. He/she assesses the students through testing by checking for correct responses. / dg et ufdfeearsi & fag Siie B TRI&uT
& OTeIH ¥ BT BT e PRd ¢ |

36) «“Assessment of learning” does not include: / AT BT e fA & =fia qﬁ%
1. Evidence based assessment/ T1&T STUTR ST

2. Criteria based assessment/ ATGS TR 3ffeha

3. Assessment of outcomes / URUTHI BT 3w



4. Mapping students’ progress/ AR BHE] &1 Ui

Correct Answer :-

- Mapping students’ progress/ AR SHEI &1 Wt

37) Which of the following statements is false about the collaborative learning approach? / Fufafea & 9

P AT YT HgINTAP SATUTH TR0 F IR # Tad 82

1. Social skills of learner are developed. / ﬁT&‘lTQﬁa‘Tf IS S b Rid Eﬁ?ﬂ % [

2. Emotional skills of learner are developed. / ﬁT&‘IT off BT HTaTTHD a'ﬁ?lﬁ, foRa E}IT‘IT %I

3. Every student participates pro-actively in the task. / SO BM, auks| @ Fipad ¥ YT Tl %I
4. Dominance of the teacher is reduced. / fR1e1 &1 UHTE HH B ST %‘I

Correct Answer :-

- Every student participates pro-actively in the task. / PG EIER Capk:| ‘{\P[ FchadT & HIT < %I

38) One of the following statements is true for the process of Roasting carried out during the extraction of metals from their ores.
Identify the true statement. /

e o A U $Y 3Ry | U1gsi & fFreayur & R P T wel= 3t ufthar & fore wEt § 1 39 I Hy= &Y ugaH |
1. Roasting is used for Carbonate ores. / Ho{H BT SUUNT BIEc 3B P forg far Srar g1

2. Roasting is not used for Sulphide ores. / HS{= BT STTNT JehT S Sh] & forg e fopar ST g1

3. The ore is heated in the presence of air. / 3 B gaT HI JUFRUTY & 7T fHar FTaT 8|

4. The ore is heated in the absence of air. / 3fT%G I g1 BT ST H 7 faar ST 31

Correct Answer :-

» The ore is heated in the presence of air. / 3IIH Ga| gdl 1 Iuffa o 7 fpar e %I

39) If the speed of sound is 340 m/s and the echo is returned in 3.5s, then the distance of the reflecting rock from the sound source is:

/
afe @iy F 1fa 340 Me/AFs 7 3T 3.5 Vs # ufaeal™ araw it B, @t afy dia &1 ufaeata s 9@ ag@ $gdh 2:

1. 595m / 595 HIeX
2.1190m / 1190 Hiex
3.170m / 1705
4. 955m /955 Hicx

Correct Answer :-

« 595m /595 HicR

40) The unit “hertz” is the SI unit of the physical quantity: /
gea T & | fopw Ao amen 91 aee (Tens) TS @

1. Sound / @

2. Frequency / &nqﬁ-r

3. Period / 37afd

4, Amplitude / 3TITH

Correct Answer :-

 Frequency / 31'@%

41) A train decreases its speed from 144 km/h to 72 km/h in 4s. The acceleration of the train is: /

TP 3 AU AT 4 AT F 144 el uer A 72 il der ao w0 A R, T BT w0 8-



1. -5m/s?

2.5 m/s?

3. 10m/s?

4, -10m/s?
Correct Answer :-
e -5m/s?

42) A ray of light is incident on the glass slab at an angle of incidence 30°, the angle of emergence will be:/
ST B TP 601 M 31 T Ugt W 30° F MU BT W i gl B, YD1 S50 &g &1 HYor gmm:

1. 60°

2.45°

3.30°

4. 15°

Correct Answer :-

e 30°

43) The interval between the melting point of ice and the boiling point of water in Celsius scale is divided into: /
AfRrw e & Uit & FYE 3R 9% & oIS & S siavTd 3w fauTfrd gt 3:

1. 180 equal parts / 180 IR et

2. 273 equal parts / 273 TR gt

3. 100 equal parts / 100 SRTER fE=!

4. 120 equal parts / 120 IR et

Correct Answer :-

« 100 equal parts / 100 IR et

44) Use of agriculture farming system,with minimum or no use of chemicals,use of maximum input of manure,farmwastes and
bioagents is known as /

ATH A1 AT Tl & whn Y $iY goredt a1 Iuh, @ie b aftrean Faw, $RY sty R S sRe BT ITUNT Bearar @
1. Genetic manipulation. / 3{TdITRId B

2. Organic farming. / 91d B

3. Biofertilizer farming. / Sa3dRe P

4. Biochemical farming. / SaRTETa® P

Correct Answer :-

« Organic farming. /@a qﬂﬁ

45) CANCELLED

We feel more comfortable in light coloured cloths in summer than dark coloured cloths because: /

TRl & g 7T F FUST # gH ARIP JRTHSIS HeHH $d & FIP 8L T P HUS &

1. Light coloured cloths absorbs more heat radiaﬁon/?@?‘i’ﬂa’?m, 3w Ho fafsor o Gﬁ?ﬁﬁﬁaﬂﬁ%l
2. Light coloured cloths absorbs less heat radiation /E’ﬁ; TP a'TCI%_, HH W fAfhR0r Bl SN Hd %I

3. Dark coloured cloths radiate more heat radiation /"T@'T‘Té@'m WWW, ﬁ'ﬁ?ﬁﬁaﬂ%%l

4. Light coloured cloths absorbs more moisture / B¢ 1 & HUS 3Hfd® Tt &1 ra=iftd #d B

Correct Answer :-



« Light coloured cloths absorbs less heat radiation /W & m, HH H A0 B aNivd Hd %I

46) CANCELLED

What will happen if a small sheet of paper is tightly wound over at one end of a long iron rod and the same end is placed over a candle flame? /

FIT I 3R BT B TP DI ATER, TH A9 Ag Bl T8 & TH DR W HADR 919 &t ATl § 3R I T8 & g BR W TP HiHaw!
P B AATHR AT ATl 82

1. Only some portions of the paper will burn off. /
&HAd DI & PS (o8 o ST |

2. The paper will not burn off since iron is a good conductor. /
HRTS TET T R SRA e 37T fIwarea |

3. The paper will burn off since it is an insulator. /
BTG S ST i T8 fadarss® g

4, The flame of the candle will put off. /

Tracl B ot g3 ot

Correct Answer :-

« The paper will not burn off since iron is a good conductor. /

BT TSI ST e TR Ueh 37T [aTaTe® g

47) CANCELLED

Which group of organisms are not constituents of a food chain ?/
Sial BT B A T W 4GAT S UeP a1 82

1. Frog, snake, grass, eagle, grass hopper / ﬁ—dfﬁ, HTU, U, %ﬂa, ﬁg[
2. Lion, rabbit, grass, wolf/ ‘\31?, @T"ﬁ’-‘ﬂ, U, 'ﬂﬁ'ﬂﬂ

3. Snake, grass, wolf, tiger / iy, 99, ﬂ’%’cﬂ, EI)

4. Man, plankton, fish, grass hopper / HI-1d, Wddh, I@T‘ﬁ, ﬁ?j

Correct Answer :-

- Snake, grass, wolf, tiger / iy, umy, ﬂﬁf’ﬂT, E1)

48) CANCELLED

Liquids in spherical containers should be placed_ ./ Tﬁ?I'IT:FR UIFIR:] ?@ GELS) Tc,‘T?f ol B L GRS ) ilTI%'EI
1. near a water source in the lab / TIVTRITAT H Ut o Th i & g

2. near the window / W & g

3.in dark / 3{ERH

4.in open shelves / EFﬂ Sl

Correct Answer :-

. in dark / 3R H

49) CANCELLED



Aforce of 10N is acting on the body and the body displaces through 5m normal to the direction

of application of the force as shown in the given figure. Find the work done. /

10N T Us &, U o W FRRd § 3R a8 B 10 [ & 36T8R, a6 & ao) gl &1 fgar
# 5 AT FEET ¥ @ e giar 81 feaer Rt g3 A

l F=10N

I b
S=5m
1.-50J
2.25)
3.501J
4.0J
Correct Answer :-

« 0J

50) Combustible materials can be disposed off through / mﬁ Wﬁm Arerd A fuer o god %
1. Composting / HHRET

2. Recycling / ARED U

3. Dumping / gfagyur

4, Incineration / BT

Correct Answer :-

« Incineration / AR

51) The anhydride of H3PO4 is: /
H3PO, 1 TTEIESIES ¢

1. PCl3

2. PCl;

3. PH3

4. P,054

Correct Answer :-

. P205

52) Among the following ecosystems, man made ecosystem is /
Frafafaa uifufie @t & |, are Fffe offRufest @ 2:

1. Garden / Sfi=T

2. Ponds / dTelld

3. Forests / STl
4. Lakes / S

Correct Answer :-

« Garden / ST



1. mentally ill / AFRI® U I §HR
2. dumb /T
3. deaf / §8Y
4.blind / 3

Correct Answer :-

. deaf/EIBB\r

54) The statement “the electrical resistance of a metal increases with temperature” is a: / ®Y-: “UTJ BT ﬁmﬁr ufaRIdy,
ATIAE & 1Y g1 g1” TP Bl

1. Concept / AYRUT

2. Theory / frgia

3. Principle /ﬁﬂm

4. Hypothesis / aRemegT

Correct Answer :-

« Principle / o

55) Herbarium is a dry preservation of . | gafam BT TP Yob W& B
1. fishes / ASCrA

2. bird feathers / G&ft & U@l
3. herbs / G@’f m
4, plants /t?f%ﬁ

Correct Answer :-

. plants / t?f‘iﬁ

56) Which one of the following is not an advantage of the Heuristic method of teaching? / fFrafafaa # & #19 Rieor 1

TR Ay o1 e a1y g &2

1. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Ud CERIERIREEED '_ﬂ?f, g Uh
fAfera To safy & Mt ureusma & @1 H-7 & TeTdl HR 9l ¢ |

2. It helps in developing creativity in the learners /A% ﬁr&rrﬁ‘rq‘r T TS T [ahRid Ha § Haq HIA % |
3. The students develop the power of observation. / B A aaid o Ufad fawRid Eﬁ?ﬁ %I
4. Self-activity is used for gaining knowledge. / T Ut P & fore Wa-fafafd o1 IugiT foeam Sira % I

Correct Answer :-

- Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Tdh GERIERINEEY '_ﬂ?f, g Uh
fAfSra To safy & Muffa ureusma & 1 H-7 & TeTadl o) 9l ¢ |

57) Which of the following types of question should be used by a science teacher to assess the ability of a student to

summarize and integrate the ideas? / Ui # & {59 TSR & Uy &1 3TN, T fagm= e gRT faR) @) J87 i
UPIPd B od UP BT DI &HdT T Sfidpad 1 & g farar s anfge?

1. Selection type objective question / I Gl aﬁﬁg UH
2. Supply type objective question / 3‘|Tq:ﬁf aﬁaﬁﬁg uy
3. Short answer type question / g 31X CIGRL]
4. Long answer type question / T I A Uy



Correct Answer :-

. Long answer type question / o WA Uy

58) Which of the following is a biotic factor?/
fFrafafea & ¥ @9 a1 dfde ore 82
1. Microbes/i R

2. water / ST

3. soil / gt
4. Air /914

Correct Answer :-

. Microbes/?-1 U

59) Perseverance is an attribute that: / €¢dl Th faQwar % S
1. Allows repeated opportunities for success / b dl & o0 TR-IR S/EWR ! %’I
2. Gives success in single attempt / Udh 2 g H I adT gt %I
3. Leads to continuous success / AR I adr Y 3R & STt % [
4. Makes one narrow minded towards work / ®TH Hufa ﬂﬂ'ﬂ'Uf RIE| ﬁﬁﬁ HIA % |

Correct Answer :-

. Allows repeated opportunities for success / b Al & o0 TR-IR 3/aWR <t %I

60) Which of the following is NOT true of performance-based assessments? / Fafafea # 9§ B vegiH-3metia
SHTHAT BT T L 82

1. It measures students ability to apply the knowledge learnt / dg BE gRT UG T4 I &I FI'IT‘LW P & DI ATTAT %l
2.1t is simple and non-authentic / dg T 3R TR-yH1iOIS %I

3.1t is open-ended and time-bound / dg§ @?IT-GFT (Gﬁu?-ﬁ@;@’) IR gHOdg %I

4.1t is process/product oriented/ Ug ufehar / IdTG 3HY % I

Correct Answer :-

« It is simple and non-authentic / Jg Al 3R TR-yHIfOIS %I



